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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2018 

Subject Name :   Engineering Drawing 

Subject Code :    2TE02END1                                     Branch :  Diploma (All)  

Semester : 2              Date :02/05/2018                        Time :   10 :30 To 1:30          Marks :  70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Four answers of a question are given below the question. Select appropriate 

answer from the options - a, b, c, and d. 

(14) 

 

a) 

The full form of BIS is, 

(a)  British India Standard.      (c)    Bureau of Indian Standard. 

(b)  Basic Indian Standard.      (d)    Bureau of intelligent Standard. 

 

 

b) 

To draw circles and arcs in drawing sheet, 

(a)         divider is used.                      (c)    compass is used. 

(b)        protractor is used.                (d)    French curve is used. 

 

 

c) 

T- Square is made of two parts, 

(a) Set-squares and screws.     (c)     stock and blade.    

(b)        screws and board. (d)    two battens at right angle. 

 

 

d) 

Dimensions of a title block is, 

(a)        185 x 45 mm.                         (c)      185 x 65 mm. 

(b)        185 x 55 mm.                         (d)      185 x 75. 

 

 

e) 

When very small sub divisions are required to be made, then 

(a)  plain scale can be used. (c) diagonal scale can be used. 

(b) scale of chord can be used. (d) logarithmic scale can be used.  

 

 

f) 

In a drawing, scale is shown 1:1, it indicates the scale is 

(a)  half scale.                                (c)         enlarging scale. 

(b) reducing scale.   (d)  full scale.      

 

 

g) 

To divide a circle into 12 equal parts, 

(a) compass can be used.                              (c) protractor can be used. 

(b) 30°-60° set-squares can be used.   (d) all of the above can be used. 

 

 

h) 

45° set-square can be used to divide a circle into, 

(a) 4 equal parts.  (c) 8 equal parts. 

(b) 12 equal parts.  (d) 16 equal parts. 

 

 

i) 

When eccentricity is less than 1 (one), the curve is 

(a)  an ellipse. (c) a hyperbola. 

(b) a parabola. (d) none of the above. 

 

 
j) 

When a circle rolls along a straight path without slipping, the path drawn by any 

point on 
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the circumference of the circle is known as,   

(a) a hyperbola.       (b) a cycloid.       (c)     an epicycloids.      (d)      

an involutes. 

 

 

 

k) 

If position of a point is below HP and infront of VP, than point is in 

(a)  first quadrant. (c) third quadrant. 

(b) second quadrant. (d) fourth quadrant. 

 

 

l) 

True length of the line can be get in elevation, if line is, 

(a) parallel to VP. (c) Inclined to VP. 

(b) Perpendicular to VP. (d) parallel to HP. 

 

 

m) 

In First Angle Projection method, side view is placed besides the elevation on the 

(a) same direction of the viewers.  (c) top of the elevation. 

(b) opposite  direction of the viewers.   (d) bottom of the elevation. 

 

 

n) 

What is the meaning of CAD in AutoCAD? 

(a) Computer Aided drawing. (c) Computer Aided Drafting. 

(b) Computer Aided Designing. (d) all of the above.  

 

 

Attempt any four questions from Q-2 to Q-8 

 

Q-2 (a) List at least SEVEN drawing instruments and state their usage.  (7) 

 (b) Construct appropriate scale of 1:60 to show Meters and Decimeters and long 

enough to measure up to 6 meters. Marks 4.3 meters on it. 
(7) 

    

Q-3 (a) Divide a 117 mm long ‘AB’ line, into 8 equal divisions. (4) 

(b) Construct a Heptagon of 25 mm sides using universal method. (5) 

 (c) Construct a regular Pentagon of 30 mm sides by Tri-circle method. (5) 

    

Q-4 (a) Construct an Ellipse by Concentric Circle method having major axis 120 mm and 

minor axis 80 mm long. 
(7) 

 (b) Construct a Parabola by Tangent method. Base 110 mm and axis 70 mm long. (7) 

    

Q-5 (a) Construct a cycloid of 42 mm diameter circle for complete one revolution. Keep 

starting point of curve at the below of the vertical diameter. 
(7) 

 (b) Draw an Involutes of a Hexagon having sides 25 mm for complete one revolution. (7) 

    

Q-6 (a) A straight line AB, 80 mm long is inclined 30º to HP and 45º to VP. End A is 15 

mm above HP and 20 mm in front of VP. Draw its projections. 
(7) 

 (b) A rectangular plate 50 mm X 35 mm is resting on H.P. on one its shorter sides. 

Surface of the plate makes an angle of 45º with H.P. and it is perpendicular to V.P. 

Draw its projections. 

(7) 

    

Q-7 (a) A pictorial view of an object is shown in Fig. 1. Draw to full size its following 

views using ‘First Angle Projection Method’.  

i.     Front view looking from – X. 

ii    Top view. 

(10) 
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 (b) Name any FOUR AutoCAD commands and state their usage. (4) 

    

Q-8 (a) Two views of an object are shown in Fig. 2. Draw the Isometric view.  (10) 

 (b) Construct an isometric Scale to measure 125 mm. length. (4) 

    

   

 

 

ગજુરાતી 

 

પ્રશ્ન-૧  એક પ્રશ્નના ચાર વિકલ્પ પ્રશ્નની નીચે આપે઱ા છે. યોગ્ય વિકલ્પ પસદં કરી પ્રશ્નનો 
જિાબ ઱ખો. 

૧૪ 

 a) BIS ન ું ઩રૂ ું અથથઘટન કયો. 
(a) બ્રિટીળ ઇન્ડિમા સ્ટાડિિથ     (c)     બ્યયૂો ઓપ ઇન્ડિમન સ્ટાડિિથ 
(b) ફેઝીક ઇન્ડિમન સ્ટાડિિથ    (d)     બ્યયૂો ઓપ ઇડટેરીજ ુંટ સ્ટાડિિથ 

 

 b) ડ્રોઈંગ ળીટભાું લર્ થ઱ અને ત્રિજ્મા દોયલા ભાટે , 

(a)         ડિલાઇિયનો ઉ઩મોગ થામ છે.         (c)    કું઩ાવનો ઉ઩મોગ થામ છે  

(b)        પ્રોટેકટય ઉ઩મોગ થામ છે.                (d)   ફ્રેંચકલથનો ઉ઩મોગ થામ છે. 

 

 c) ટી-સ્્લેય ફે બાગોન ું ફને઱ ું શોમ છે,ક્યા-ક્યા?  

(a) વેટ સ્્લેય અને સ્ૂ .     (c)  સ્ટોક અને બ્રેિ.    

(b)        સ્ૂ અને ફોિથ.       (d)     કાટખણૂે ફે ઩ટ્ટી.   

 

 d) ટાઈટર બ્રોકના ભા઩ ક્યા શોમ છે?, 

(a)       185 x 45 mm.                 (c) 185 x 65 mm. 

(b)       185 x 55 mm.                 (d)         185 x 75. 

 

 e) જ્માયે ઘણા નાના ભા઩ો જરૂયી શોમ ત્માયે નીચેનાભાુંથી કમો સ્કેર ઉ઩મોગી છે? 

(a) પ્રેન સ્કેર            (c)    િામાગોનર સ્કેર 

(b)    સ્કેર ઓપ ચોિથ .        (d)    રોગાયીધત્રભક સ્કેર 

 

 f) એક ડ્રોઈંગભાું 1:1 નો સ્કેર, નીચેનાભાુંથી ક્યા સ્કેર ભાટે દળાથલેર છે?  

(a)  શાલ્પ સ્કેર.                  (c)  એડરાજીંગ સ્કેર. 

(b)     ડયિયતૂ્રવડગ સ્કેર.      (d)    ફૂર સ્કેર.      

 

 g) લર્ થ઱ના ૧૨ (ફાય) વયખા બાગ કયલા શ ું લ઩યામ છે?  

(અ)        કમ્઩ાવ લ઩યામ છે                                (ક) પ્રોટે્રકટય લ઩યામ છે  

(ફ)        ૩૦ᵒ-૬૦ᵒના વેટ સ્્લેય લ઩યામ છે   (િ) ઉ઩યના ફધા લ઩યામ છે   

 

 h) 45ᵒ ન ું વેટ સ્્લેય લર્ થ઱ના કેટરા બાગ કયલા ભાટે લ઩યામ છે?,  
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(a) ૪ વયખા બાગ કયલા .  (c) ૮ વયખા બાગ કયલા. 
(b) ૧૨  વયખા બાગ કયલા.  (d) ૧૬  વયખા બાગ કયલા. 

 i) જમાયે ઉત્કેડરતા એક કયતા ઓછી શોમ ત્માયે કમો કલથ યચામ છે?  

(a)  ઈરીપ્વ        (c)     શામ઩યફોરા      
(b)        ઩ેયાફોરા        (d)     ઉ઩યના એક ઩ણ નશીં  
 

 

 

 

 j) જમાયે કોઈ લર્ થ઱ વીધા યસ્તા ઩ય વયક્યા લગય ગફિર્ ું શોમ ત્માયે લર્ થ઱ના ઩ડયઘ 

ઉ઩યના બ્રફિંદ  લિે યચાતા લ઱ાુંકને શ ું કશલેામ છે? 

(a)        શામ઩યફોરા     (c)       એ઩ી વાઇકરોઇિ     

(b)       વાઈકરોઈિ      (d)       ઇડલોલ્ય ટવ 

 

 k) જ્માયે કોઈ બ્રફિંદ  HP ની નીચ ેઅને VP ની આગ઱ શોમ ત્માયે તે ક્યા લર્ થ઱઩ાદભાું છે? 

(a)  પ્રથભ લર્ થ઱઩ાદભાું. (c) િીજા લર્ થ઱઩ાદભાું. 
(b) ફીજાું લર્ થ઱઩ાદભાું.   (d) ચોથા લર્ થ઱઩ાદભાું. 

 

 l) યેખાની ખયી રુંફાઈ વાભેના દેખાલભાું ત્માયે ભ઱ે જ્માયે યેખા, 
(a) VP ને વભાુંતય શોમ ત્માયે. (c)   VP ને ખણૂો કયતી શોમ ત્માયે. 

(b) VP ને રુંફ શોમ ત્માયે.      (d)      HP ને વભાુંતય શોમ ત્માયે. 

 

 m) પ્રથભ કોણીમ પ્રકે્ષ઩ણની યીતભાું વાઈિવ્ય,ૂ વાભેના દેખાલની કઈ ફાજ  મકૂલાભાું આલે 

છે?  

(a) જોનાયની ડદળાભાું.  (c) વાભેના દેખાલની ઉ઩ય. 

(b) જોનાયની ત્રલર દ્ધ ડદળાભાું.   (d) વાભેના દેખાલની નીચ.ે 

 

 n) AutoCAD ભાું CAD ન ું અથથઘટન શ ું કયલાભાું આલે છે? 

(a) કોમ્પ્ય ટય એિેિ ડ્રોઈંગ.          (c) કોમ્પ્ય ટય એિેિ ડ્રાપટીંગ. 

(b)     કોમ્પ્ય ટય એિેિ િીઝાઈનીંગ.  (d) ઉ઩યના ફધા.  

 

   

પ્રશ્ન ૨ થી ૮ માથંી કોઈ પણ ચારના ઊત્તર ઱ખો. 
 

પ્રશ્ન-૨ (અ) ઓછાભાું ઓછા વાત ડ્રોઈંગના વાધનોના નાભ આ઩ો અને તેના ઉ઩મોગ રખો. (૭) 

 (બ) 1:60 ના લધ ભાું લધ  6 ભીટય સ ધી ભા઩ી ળકામ તેલા ભીટય અને િેવીભીટયના ભા઩ 

લા઱ા અન ક઱ૂ સ્કેરની યચના કયી તેના ઩ય 4.3 ભીટયન ું ભા઩ દળાથલો. 
(૭) 
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પ્રશ્ન-૩ (અ) 117 ભીભી રાુંફી ‘AB’ યેખાના 8 વયખા બાગ કયો.. (૪) 

 (બ) ય ત્રનલવથર ભેથિ (Universal method) નો ઉ઩મોગ કયીને, 25 ભીભી. ફાજ લા઱ા 
વપ્તકોણ ની યચના કયો. 

(૫) 

 (ક) િણ લર્ થ઱ની યીતથી ૩૦ ભીભી. ફાજ લા઱ા ઩ુંચકોણની યચના કયો. (૫) 

    

પ્રશ્ન-૪ (અ) વભકેન્ડરત લર્ થ઱ની યીતથી ઈરીપ્વ દોયો. ભોટી ધયી 120 ભીભી. અન ેનાની ધયી 80 

ભીભી છે.   

 

 

 

 

 (બ) સ્઩ળથકની યીતથી ઩ેયેફોરા દોયો.઩ામો 110 ભીભી અન ેઅક્ષ 70 ભીભી રાુંફી છે.  (૭) 

    

પ્રશ્ન-૫ (અ) 42 ભીભી. વ્માવના લર્ થ઱નો વું઩ણૂથ એક આંટા ભાટેનો ચક્રજ દોયો. લ઱ાુંકની ળરૂઆત  

ઊબા વ્માવના નીચેના છેિેથી કયો.  
(૭) 

 (બ) 25 ભીભી. ફાજ લા઱ા ઴ટ્કોણના વું઩ણૂથ એક આંટા ભાટેના પ્રત્રતકેડરજની યચના કયો.  (૭) 

    

પ્રશ્ન-૬ (અ) એક વીધી યેખા AB, 80 ભીભી. રાુંફી, આિી વ઩ાટી વાથે 30º અને ઊબી વ઩ાટી વાથે 
45º નો ખણૂો કયે છે. A છેિો  આિી વ઩ાટીની ઉ઩ય 15 ભીભી. અને  ઊબી વ઩ાટીની 
આગ઱ 20 ભીભી. છે આ યેખાના પ્રકે્ષ઩ો દોયો.. 

(૭) 

 (બ) એક રુંફચોયવ તકતી 50 ભીભી. X 35 ભીભી. ના ભા઩ની, તેની એક ટૂુંકી ફાજ  ઩ય આિી 
વ઩ાટીભાું ટેકલેરી છે. તકતી આિી વ઩ાટી વાથ ે 45º નો ખણૂો કયે છે જ્માયે તે ઊબી 
વ઩ાટીને રુંફ છે. આ તકતીના પ્રકે્ષ઩ો દોયો.. 

(૭) 

પ્રશ્ન-૭ (અ) આકૃત્રત-૧ ભાું એક ઩દાથથની બ્રચિ પ્રત્રતભા આ઩ેર છે ‘પ્રથભ કોણીમ પ્રકે્ષ઩ણ’ ની યીતે 
઩યૂા ભા઩થી નીચેના દેખાલ દોયો. 
૧.   X – તયપથી જોઇને વાભેનો દેખાલ.             ૨.   ઉ઩યનો દેખાલ.     

(૧૦) 

 (બ) કોઈ ઩ણ ચાર AutoCAD કભાડિના નાભ રખો અને તેના ઉ઩મોગ દળાથલો. (૪) 

    

પ્રશ્ન-૮ (અ) 

 

 

આકૃત્રત-૨ ભાું એક ઩દાથથના ફે દેખાલ આ઩ેર છે. તેની ર્ લ્મપ્રતીભા (Isometric view) 

દોયો.  
(૧૦) 

 (બ) 125 ભીભી. ભા઩ી ળકામ તેલા આઈવોભેટ્રીક સ્કેરની યચના કયો. (૪) 
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